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201 L2 | 2,800 2,400 400
01 At 22|l 2,800 2,400 400
O=gt| 2,800
-FAEE SUAHL 2,800,000& 2,800
202 Odt| 3,000 2,700 300
01 =LHOLI 3,000 2,700 300
ORAN2d S 3,000,000& 3,000
J2ZHI(XH) 4,640 5,200 AB60
201 2| 2,240 2,500 A260
01 AtR2telt] 2,240 2,500 A260
O=gl 2,240
FA2E SUAH & 2,240,0002 2,240
202 04d| 2,400 2,700 A300
01 =W OdbI 2,400 2,700 A300
ORAN2d S 4 2,400,000& 2,400
Jl2ZHI(EXI2el) 4,640 3,800 840
201 L2 | 2,240 1,800 440
01 Ar22eltl 2,240 1,800 440
O=gtl 2,240
-FA2E SHAHL 2,240,0002 2,240
202 04d| 2,400 2,000 400
01 =WOdbI 2,400 2,000 400
PANE2E SUAHL 2,400,000& 2,400
J12BUI(XIETHZAL 5,800 5,000 800
201 Let2| 2,800 2,500 300
01 Ar2eltl 2,800 2,500 300
O=gtl 2,800
-FA2E SHAHL 2,800,000& 2,800




FA RS AL
D HNSAAY|(ARAZAD)
el JI2ZHI(ALASA)
2 s IE]
SA - HY - S9I(3) - HIRAY - BES Ofl & e
202 01t 3,000 2,500
01 2LHoIH 3,000 2,500

ORA2Y SAUAL 3,000,000 3,000




